
barossa pivot
semi-frameless shower screen  INSTALLATION GUIDE 

JohnsonSuisse



barossa pivot
semi-frameless shower screen

Introduction..................04

Care..................10

Warranty..................11

 CONTENTS

2

JohnsonSuisse



barossa pivot
semi-frameless shower screen

3

Please inspect the product immediately upon receipt for damage, missing components or manufacturing 

faults. Damage reported later connot be accepted. 

Please handle the product with care avoiding knocks and shock loading to all sides and edges of glass. 

Glass edge must not contact any hard surface. 

Claims for defects/damage cannot be made after installation is completed. 

NOTE: SAFETY GLASS CANNOT BE REWORKED. DO NOT TRY TO ALTER PARTS IN ANY WAY.
 

Please read these instructions carefully before you start installation. Special care should be taken when 

drilling walls to avoid hidden pipes or electrical cables. 

 GENERAL INFORMATION 

This product is heavy and may require two people to install.

Tools required



barossa pivot
semi-frameless shower screen  COMPONENTS 

4

IN
S
TA

LL
A
TI

O
N

 I
ns

tru
ct

io
ns

[6]  1 x Brackets.

      

1

1 x Wall Connect Clips

      1 x Wall Plug.

      1 x Wall Clip Fixing.

      2 x Glass Fixings.

       x Wall Plug.

      1 xS crew M4x35.

[7] 4 x Wall Plugs.

     4 x Flat Screws M4x35.

     

[1] 1 x Aluminum Seal.

     4 x Clips.

     

[5] 2 x Hinges.

[4] 2 x . Drip Seals

[3] 2 x Magnetic Seals.

[2] 1 x Fixed Panel.

     2 x . Setting Blocks

[4] 1 x Door Panel.

        

[2] 1 x Wall Post.

[8] 

     4 x Screw Cover Caps.   

     

4 x Screws M4x10.

[2] 1 x Handle Set. 

[1] 1 x Installation

         Instruction.  

[3] 1 x Fixed Panel.

      2 x . Setting Blocks

[1] 1 x Wall Post.

[3] 4 x Wall Plugs.

     4 x Flat Screws M4x35.

     
[4] 

     4 x Screw Cover Caps.   

     

4 x Screws M4x10.

Before commencing installation, please check you have received the correct parts required; outlined below



barossa pivot
semi-frameless shower screen   INSTALLATION 

5

IN
S
TA

LLA
TIO

N
 Instructio

ns

Assembly Drawing

[1]  9xWall Plugs

[2]  8xFlat Screws M4x35   

[3]  8xScrews M4x10              

[4]  8xScrew Cover Caps       

[5]  2xWall Posts  

[6]  2xFixed Panels

[7]  1xAluminum Seal    

[8]  1x

[9]  1xDoor Panel

[10] 1xHandle Set 

Horizontal Drip Seal

 

[11] 2xMagnetic Seals   

[12] 1xBracket

[13] 1xWall Connector

[14] 1xWall Clip Fixing

[15] 1xScrew M4x35

[16] 2xGlass Fixings

[17] 2xHinges

[18] 1x   

[19] 2xClips

[20] 4x  

 

Vertical Drip Seal

Setting blocks

[9]

[10]

[11]

[12]

[17]

[14]

[16]

[13]

[18]

[6]

[5]

[1]

[2]

[3]

[4]

[7]

[8]

[19]

[15]

[20]



barossa pivot
semi-frameless shower screen

From wall corner to
 

the edge of wa ll post

118 0 -1205

960 - 9
85

860 - 8
85

Before starting:

Ensure floor area for installation is completely level.

Walls must be plumb to within 5mm over the height of the screen.

Check-measure that the screen size shown on the packaging suits 

the intended installation area.

  INSTALLATION 

6

IN
S
TA

LL
A
TI

O
N

 I
ns

tru
ct

io
ns

Step 1

Step 2

1

2

3

Flat Screw M4x35

View from inside

1

2

3

1

2

960 - 985860 - 885

From wall corner to 

the edge of wall post



barossa pivot
semi-frameless shower screen   INSTALLATION 

7

IN
S
TA

LLA
TIO

N
 Instructio

ns

Step 3

Step 4
View from inside

Door Panel

Fixed Panel

Up

Down



barossa pivot
semi-frameless shower screen

8

IN
S
TA

LL
A
TI

O
N

 I
ns

tru
ct

io
ns

Step 5

Step 6

2a 2b

3a 3b

4a 4b

1a 1b

4c

Ensure wall profiles are plumb. 

Adjust enclosure to be square and level. 

Wheels should be adjusted to square the 

doors and ensure smooth running.

2
3

4

1

1

1

2

3 4

  INSTALLATION 



barossa pivot
semi-frameless shower screen

Allow 24 hours for silicone 

to dry before using shower.

  INSTALLATION 

9

IN
S
TA

LLA
TIO

N
 Instructio

ns

Step 7

Step 8
View from inside

3.2mm

Screw M4x10

1a

1b

1c

24 hours



barossa pivot
semi-frameless shower screen  CARE INSTRUCTIONS 

This screen has been treated with easy-to-clean glass surface treatment. 

Please follow the care instructions to ensure your treatment is long lasting.

After use, your shower should be cleaned with a mild detergent and water. 

This is particularly imprortant in hard water districts where insoluble lime 

salts may be deposited and allowed to build up.

Do not use abrasive based cleaners. 

Care should be taken to avoid contact with strong chemicals such as 

organic solvents and strippers.

If in doubt please contact Gemini Industries or visit the website for details. 

Please retain these instructions for aftercare and customer service details.

C
A

RE
 I
ns

tru
ct

io
ns

10



barossa pivot
semi-frameless shower screen

This product is covered by a 2 year product replacement and a 1 year parts and replacement warranty.

Refer to www.johnsonsuisse.com.au for full warranty terms and conditions. 

Our goods come with guarantees that cannot be excluded under the Australian Consumer Law. You 

are entitled to a replacement or refund for the major failure and for compensation for any other reasonably 

foreseeable loss or damage. You are also entitled to have the goods repaired or replaced if the goods fail 

This warranty is provided by Bathroom Products Australia Pty.Ltd

ABN 87 079297 617

PO Box 728 

Botany NSW 2019

T 1300 717 717

F 1300  746 480

E   bpa.info@johnsonsuisse.com.au

 

to be of acceptable quality and the failure does not amount to a major failure

 WARRANTY INFORMATION 

W
A

RRA
N

TY
 Info

rm
a
tio

n



barossa pivot
semi-frameless shower screen

JohnsonSuisse

HEAD OFFICE (SYDNEY)
2/97 Banksia St. Botany, NSW 2019
T 1300 717 717
F 1300 746 480
E bpa.info@johnsonsuisse.com.au

MELBOURNE
31 Koornang Rd. Scoresby, VIC 3179
T 1300 717 717
F 1800 225 315
E bpa.info@johnsonsuisse.com.au

BRISBANE
1/477 Newman Rd. Geebung, QLD 4034
T 1300 717 717
F 1300 746 480
E bpa.info@johnsonsuisse.com.au

PERTH
27 Harris Rd. Malaga, WA 6090
T 1300 717 717
F 1800 225 315
E bpa.info@johnsonsuisse.com.au

ADELAIDE
T 0499 221 201
F 1800 225 315
E bpa.info@johnsonsuisse.com.au

HOBART
T 0428 223 116
F 1800 225 315
E bpa.info@johnsonsuisse.com.au

DUBBO
Rogers Agencies
6 Richard Ryan Pl. Dubbo, NSW 2830
T 1300 717 717
F 1300 746 480
E bpa.info@johnsonsuisse.com.au 

FOR FURTHER INFORMATION PLEASE CONTACT YOUR NEAREST BPA OFFICE:

1212


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12

